https://lwww.leads4pass.com/c1000-148.html

L Qads 4 PQSS 2024 Latest leads4pass C1000-148 PDF and VCE dumps Download

C1000-148R%As

IBM Cloud Pak for Business Automation v21.0.3 Solution Architect

Pass IBM C1000-148 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/c1000-148.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C1000-148 PDF Dumps | C1000-148 VCE Dumps | C1000-148 Braindumps 1/6


https://www.leads4pass.com/c1000-148.html
https://www.leads4pass.com/c1000-148.html
https://www.leads4pass.com/c1000-148.html

https://lwww.leads4pass.com/c1000-148.html
2024 Latest leads4pass C1000-148 PDF and VCE dumps Download

QUESTION 1

What can be used to extract entities, keywords, and relations features from documents?
A. Knowledge Catalog

B. Natural Language Understanding

C. Watson Studio

D. Watson Explorer

Correct Answer: B

QUESTION 2

Operational Decision Manager (ODM) for production can be configured with the User ManagementService (UMS) using
hardcoded roles.

Which statement is true regarding the users and groups that are used with the hardcoded roles?
A. There are unlimited users and unlimited groups for each hardcoded role.

B. There are three users and three groups for each hardcoded role.

C. There are unlimited users and three groups for each hardcoded role.

D. There are three users and unlimited groups for each hardcoded role.

Correct Answer: A

QUESTION 3

Which identity governance and access management method is pre-integrated with the starter deployment of Cloud Pak
for Business Automation?

A. SAML
B. SSO

C. LDAP
D. OpeniD

Correct Answer: C

QUESTION 4

Which statement is true concerning the REST integration ability provided by Business Automation Workflow?
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A. Calling the REST service in a service task as part of a service flow is dynamic and does not need service discovery.

B. Unlike SOAP web services, REST services do not have a "server" configuration entity.

C. Calling REST services through JavaScript can happen only after a corresponding external service has been defined

through service discovery.

D. When a REST service URL changes, service discovery happens automatically to replace the existing service.

Correct Answer: C

QUESTION 5

Document event instances are generated by File Content Manager.

Which dashboard offers insight on the state and evolution of these instances over time?
A. Document

B. Case

C. Content

D. File

Correct Answer: C

QUESTION 6

The Content Management Domain treats compliance in which manner?

A. Decentralizing the compliance process at the document level

B. Connecting to a built-in compliance database for content management function

C. Automating the burden of paperwork and regulatory compliance by digitizing and managing documentation
D. Utilizing Robotic Process Automation task bots to query government compliance endpoints

Correct Answer: B

QUESTION 7

What is the most suitable use case for applying machine learning with Business Automation Workflow?
A. Decisionmaking for each step in a business workflow

B. Identification of missing steps in a business workflow for optimization

C. Recommendation of risk event based on predicted next step in a business workflow
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D. Identification of a change in the business rules of the organization

Correct Answer: A

QUESTION 8

Which process capability can be started using an integration API?
A. Business Automation Workflow

B. Blueworks Live

C. Business Automation Studio

D. Workstream Services

Correct Answer: C

QUESTION 9

Which two use cases are best suited for decision automation (Operational Decision Manager)?
A. Collecting business logs

B. Capturing insights from images

C. Eligibility determination

D. Approvals automation

E. Creation of dashboards

Correct Answer: BC

QUESTION 10

Which component is mandatory for Cloud Pak for Automation installation if single sign-on needs to be enabled?
A. OAuth 2.0 Service

B. User Management Service

C. Registry Service

D. NavigatorService

Correct Answer: D

QUESTION 11
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Consider a scenario that starts with a case A that instantiates a Business Automation Workflow B which, in its turn,
invokes an Operational Decision Manager (ODM) rule C.

When looking at the Business Automation Insights events emitted for this sequencing, which two statements are true?
A. In the events of the case A, the trace-id element is set to null.

B. The parent-trace-id of the workflow B is set to the trace-id of caseA

C. In the events of the case A, the parent-span-id element is set to null.

D. The trace-id elements of all events in the sequence have the same value.

E. The parent-span-id element of both the workflow B and the ODM rule C have the value of thespan-id element of case
A

Correct Answer: DE

QUESTION 12

Traditionally, case solutions were created in Case Builder and can still be used. Which additional interface can be used
to create case solutions?

A. Business Automation Navigator
B. Business Automation Studio

C. Process Center

D. Workflow Center

Correct Answer: D

QUESTION 13

Which statement is true in order toconfigure Operational Decision Manager (ODM) with User Management Service
(UMS)?

A. ODM with UMS supports SAML authentication.

B. The names of the UMS groups must match the names of the ODM groups.
C. The default ODM roles must be modified to match the UMSbase groups.
D. The UMS users and groups must be mapped to an ODM user or group.

Correct Answer: A

QUESTION 14

C1000-148 PDF Dumps | C1000-148 VCE Dumps | C1000-148 Braindumps 5/6


https://www.leads4pass.com/c1000-148.html
https://www.leads4pass.com/c1000-148.html
https://www.leads4pass.com/c1000-148.html

https://lwww.leads4pass.com/c1000-148.html

L eads 4 PGSS 2024 Latest leads4pass C1000-148 PDF and VCE dumps Download

What is the preferred architectural design for building,managing, and deploying a business decision in the Cloud Pak for
Automation?

A. Consumable application specific business decisions

B. Rules embedded and deployed in process flow with process-based deployment

C. Separately stored business decisions with decoupled deployment

D. Application embedded business decision logic reliant on application deployment patterns

Correct Answer: D

QUESTION 15

What is the main component responsible for integration between Datacap andBusiness Automation Content Analyzer?
A. Content Analyzer connector

B. Content Analyzer actions

C. Datacap connector

D. Datacap actions

Correct Answer: A
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